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gv & o @ 99 31 37 %1 81 @UE € H 10 T @i~ 37 = 2
@ue 34 10 37 £ 575 O Jdi% aR HF H1 8 |

(iv) Ferperet 1y AN &

General Instructions :

(i) All questions are compulsory.

(ii) The question paper consists of 34 questions divided into four sections A
B, Cand D.

(iii)  Section A contains 8 questions of one mark each, which are multiple
‘choice type questions, Section B contains 6 questions of twe marks eack
Section C contains 10 questions of three marks each, and Section D
contains 10 questions of four marks each.

(iv)  Use of calculators is not permitted.

T ug A
SECTION A

T G 1 € 8 T%F U U U 37 &7 7| Jedsh Y99 & fo7g 9IR fAspey faw 72 £,
fSr7e & ShereT O @l & | GE faened g

Question Numbers I to 8 carry one mark each. In each of these questions, four
alternative choices have been provided of which only one is correct. Select the

correct choice.

P p P
A p
B) -p
() -1
® 1



The common difference of the AP l,—l—:g,}:?ﬁ,

P Dz o
(A) p
®) -»
© -1
(D) 1

2. s 1 #, w A g PO R C aTe g9 W EieEd g < i g PA 91 PB
%1 af2 ga ol B 4 At 3 9T PA L PB R, O Wk W%l (W HI IS @ ¢

A
P

B

TR 1
(A) 3@ (B) 4T
(C) so (D) 6qtd

In Fig. 1, PA and PB are two tangents drawn from an external point P to a
circle with centre C and radius 4 cm. If PA 1 PB, then the length of each

tangent is :
A
>P
B
. Fig. 1
(A) 3cm (B) 4cm
(C) Scm (D) 6cm

30/1/1 3 [P.T.O.
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ST 2 ¥, TF IS ABCD % il % O JTen U g9 e T g S
e BC, AB, AD @91 CD =1 figaii P, Q, R T S W 3Huw: ¥9¥l Tl g
afe AB=20 ¥t, AD=23 &fl, ~B=90° @1 DS=5 ¥l B, A IA H Brew
(ffrd) &

(A) 11 (B) 18
< 6 (D) 15

In Fig. 2, a circle with centre O is inscribed in a quadrilateral ABCD such
that, it touches the sides BC, AB, AD and CD at points P, Q, R and S
respectively. If AB=29 cm, AD=23 cm, £B=90° and DS =5 cm, then the

radius of the circle (in cm.) is :

R A
D 1
s Q
C PB
Fig. 2
A) 11 (B) 18
(© 6 (D) 15
4



4. 75 S U HAR & e @ ot 7 Wl U HR 61 I HI0 30° 7| AR
o AR A HRA G (AL F) T -

(A) 253
(B) 5043
Yy 7548
(D) 150

The angle of depression of a car, standing on the ground, from the top of a
75 m high tower, is 30°. The distance of the car from the base of the tower

(inm.)is :
(A) 253
(B) 5043
(CF 753
(D) 150

5. U U % U IR Hehd T Ush THEEAT 3 3 il qRekal &

(A) (B)

© (D)

e S
| W —

The probability of getting an even number, when a die is thrown once, is :

(A) (B)

= D=
O\Im‘ W | =

© (D)

30/1/1 5 [P.T.O.




6. THETRH O T E, M| 1 7 90 7 v ifra B AR o d 9
TTg=s U Tewn el st &, 9 39 {5 W 23 9 0 1wy 9 < uw
EEIRIRCT IR

O
® 5
©
® =

A box contains 90 discs, numbered from 1 to 90. If one disc is drawn at

random from the box, the probability that it bears a prime-number less than

23,48
7 10
(A) % (B) m
4 9
© - D) =

nY
4JL
3T
2
/
IB 1
—2-1 0 %
A 3
(A) 15 (B) 10
© 15 (D) 2.5

30/1/1 6



In Fig. 3, the area of triangle ABC (in sq. units) is :

o &
Fig. 3
fal. 13 (B) 10
o (D) 2.5

8. a%%a%qa%w&mawﬁwsmmmﬁﬁ%,a}n:%@ﬁ%gﬁaﬂ
gieame (It #) 7 |
(A) 154
(B) 44
(C) 14
(D) 7

If the difference between the circumference and the radius of a circle is

37 cm, then using = =2T/2, the circumference (in cm) of the circle is :
(A) 154

(B) 44

() 14

D) 7

30/1/1 7 [P.T.O.
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SECTION B

9T GEIT O B 14 TF e T & T 7FH 8|

Question Numbers 9 to 14 carry two marks each.

9, T fema wefiet 61 x & T g il
4352 +5x-2/3=0

Solve the following quadratic equation for x :
43 52 +5x-243=0

10. T 37! arel e STha Tt 7 @ fantrsy €7

How many three-digit natural numbers are divisible by 77

11. ot 4 #, Bye ABC & fwia ©ffen w1 g9 gaehl C
ye13il AB, BC @1 AC i #e1: fogedl D, E 71 F W
el ww@r &1 IR AB = 12 @i, BC = § &t @

AC = 10 &t %, @ AD, BE @1 CF # @argaf 3@ ¥
i) .
A b B
D
P 4
In Fig. 4, a circle inscribed in triémgle ABC touches C
its sides AB, BC and AC at points D, E
and F respectively. If AB = 12 cm, BC = 8 cm and
AC = 10 c¢m, then find the lengths of AD, BE and CF. F E
A G B
D
Fig. 4

30/1/1 8



12. fag Fifsr o forelt g & wfors di=n o oo =gy se=gda gaT 2

Prove that the parallelogram circumscribing a circle is a rhombus.

13. @Mm@rﬁaﬁﬂé 52 W1 T AT h ME H F TS T AT Hehrat
TR | ITRRreRdn 3Ta ShifSe o e g A @ SewnE 2 iR A S e g

A card is drawn at random from a well shuffled pack of 52 playing cards.

Find the probability that the drawn card is neither a king nor a queen.

14. 14 37t x7 I} femrett aret U SR S8 918 ° U 3 WER Wy, sty
&Il T FH ST 9Tt gaTh Zohs w12 U e | 919 59 1S 9IS T aTha

mﬁﬁnl[n=272?ﬁﬁ11]

Two circular pieces of equal radii and maximum area, touching cach other

are cut out from a rectangular card board of dimensions 14 cmx7 cm. Find

the area of the remaining card board. [Use &t 2%2]

Qe
SECTION C

U7 HEIT 15 G 24 0 T3 T97 & di 3% 5 |

Question Numbers 15 to 24 carry three marks each.

15. & Torm o o Tore foema oeftemor fov (x—2) +6 = 0 % UeT H 87

For what value of £, are the roots of the quadratic equation kx (x—2) +6 = 0

equal ?

30/1/1 9 [P.T.O.




16.

17.

18.

19.

30/1/1

AR A0t 18, 15%, 13, ..., ~49%  Tal I WEAT FIa HIY 997 36 aft
TET 1 AT F1d Hiere |

Find the number of terms of the AP 18, 15%, 13, ....., —49% and find the

sum of all its terms.

'@ﬁgaeﬁrmaﬁmﬁuﬁgaﬁsﬁﬁ, 4 Tt a6 Ot B | iR T o=
ﬁwﬁmﬁﬁqﬁaﬁ%ﬁ@%ﬁﬁwﬁw%ﬁaﬁgwﬁl

Construct a triangle with sides 5 cm, 4 cm and 6 cm. Then construct

another triangle whose sides are % times the corresponding’ sides of first

triangle.

Qe % e AT 15 ) T R @ e W w e ¥

Rt = svama w300 ¥ IR gt @ed ) $arE 24 R, o oed @ )
TS T AT ) [/3 =1.732 =+ |

The horizontal distance between two poles is 15 m. The angle of depression
of the top of first pole as seen from the top of second pole is 30°. If the
height of the second pole.-is 24 m, find the height of the first
pole.[Use+/3=1.732]

T ST 73 5 (7, 10), (-2, 5) 701 (3,~4) T wufiarg ww B &
R E

Prove that the points (7, 10), (-2, 5) and (3,-4) are the vertices of an

isosceles right triangle,

10



20. 9% U T4 Hifvte Rew -1 Fgeh (-4, —6) a°n (10, 12) F oo™ I
YT i i e g | ase-fag 3 feares o 3 fifg

Find the ratio in which the y-axis divides the line segment joining the points
(-4, —6) and (10, 12). Also find the coordinates of the point of division.

21. T S H, AB @ CD %% O 375 1 o 4 TER Teaq =719 € 997 OB B I
w W 21 AR OA = 7 Tt T, O BEIHR WFT H FAEA F IS

[n=2efim
o
B 19 A
D
HIF( S

In Fig.5, AB and CD are two diameters of a circle with centre O, which are

perpendicular to each other. OB is the diameter of the smaller circle. If

OA =7 cm, find the area of the shaded region. [Use =%-?—]

30/1/1 11 {P.1.0.




22,

23.

24.

30/1/1

Uk 09 U APTNERR el I ST TREel sed & TTHR H1 § 5+
STE GHM & | TR 2 o0 =08 14 Al } Q91 56 odq o e I

13%%,aﬁm@mmmﬁﬁmn:?ﬁm

A vessel is in the form of a hemispherical bowl surmounted by a hollow

cylinder of same diameter. The diameter of the hemispherical bowl 1s

14 cm and the total height of the vessel is 13 cm. Find the total surface area

of the vessel. [Use ©t ——2;/%]

T ¥ T S A & T R T ool e 5 e e wee e

T, G flaeidr awen @) A o i S 10 Al B SR e i B
3.5%%,ﬁw%ﬁﬁmmmmﬁﬁql[n:? lSE

A wooden toy was made by scooping out a hemisphere of same radius from
each end of a solid cylinder. If the height of the cylinder is 10 cm, and its
base is of radius 3.5 cm, find the volume of wood in the toy.[Use nt :%%]

21 Wft B At 99 S TF T, FE W 60° H R ala w2
| FIST (1) =9 TEE (i) S A AT T HSEve # aahd |

[n—%?ﬂﬁw

In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre.

Find : (i) the length of the arc (ii) area of the sector formed by the arc.
22

Usen=—

[ - ]

12
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SECTION D

Y97 GEIT 25 F 34 0 TedF JoHA & TR FTFH 2 |

Question Numbers 25 to 34 carry four marks each.

25. frefafa =t x & ™o ga Hifsmo
1 Lol

b O ey

Solve the following for x :

ol e D
2a+b+2x 2a b 2x

26. < a1 % e 1 A 400 = A B 1 9 5 ufwT iR 16 Tt , @
AT it aht ST T shifre |

Sum of the areas of two squares is 400 cm’. If the difference of their

perimeters is 16 cm, find the sides of the two squares.

27. - gfe Tl Ty Avft 3 wug 7 981 1AM 49 B TAT IHE YW 17 TS KT ANT 289
2, A1 39 A 3 7T 5 TS T T T HIN |

If the sum of first 7 terms of an AP is 49 and that of first 17 terms is 289,

find the sum of its first n terms.

28. Tag ifsry o ga o el foig v vt Yo et -forg & = &t rsen @ gt
|

Prove that the tangent at any point of a circle is perpendicular to the radius

through the point of contact.

30/1/1 13 [P.T.O.



29, SR 6, 17 m, I 0 T e 7 2 e T YA &, s A
TN B 0 1 ! ¥091 et & | g © R 0 o vt Y, Yt 1 Y D s T
m%! E R vfreas ! ¥ | frg R 5 2 DOE=90° %

A D

»n

2

ST 6

In Fig. 6, / and m are two parallel tangents to a circle with centre 0,
touching the circle at A and B respectively. Another tangent at C intersects
the line / at D and m at E. Prove that ~ DOE=90°,

A D

ﬂ\

i

Fig. 6

30. U HNR & we-fag @ us = % Rt w5 3w #7300 2 afit wee % -
formg @ iR o e =1 339 0 60° 31 3R TR 60 H S A, @ wwm A
4T3 3 Hifv |

The angle of elevation of the top of a building from the foot of the tower is
30° and the angle of elevation of the top of the tower from the foot of the
building is 60°. If the tower is 60 m high, find the height of the building.

30/1/1 14



31, THUHEH 12 A & 5§ 3 ercafies Sfam, 3 6 sreafies Saer a9 3y
AT I & | 998 H § T ST AT YT TR | afe Wedieh safere o o
SR St MR F9H 2, @ ST I I o g e st (1) st
YA B | (if) AT TEE 19ET MR 31 ol gt 3 A fohe gew
7Y 3T SgaT o 27

A group consists of 12 persons, of which 3 are extremely patient, other 6
are extremely honest and rest are extremely kind. A person from the group
is selected at random. Assuming that each person is equally likely to be
selected, find the probability of selecting a person who is (i) extremely
patient (ii) extremely kind or honest. Which of the above values you prefer

more.

32. U UG SgdS ABCD % o ¥fid A(3,- 4), B(=1, —3) @9 C(=6, 2) &1 ofid
D & T3311 J1a IS q9m ABCD =1 &5%at 91a i |

The three vertices of a parallelogram ABCD are A(3, — 4), B(-1, -3) and
C(-6, 2). Find the coordinates of vertex D and find the area of ABCD.

33. 2 Tt STAieh S Aol SRR UIsY § O 0.4 H/Y Y Y U SeFTHR I
T ST 8 | IS 3R 5 e it s 40 A R, ) 91 iR 5 end o2 § T
T T SR R &g ST |

Water is flowing through a cylindrical pipe, of internal diameter 2 cm, into

a cylindrical tank of base radius 40 c¢m, at the rate of 0.4 m/s. Determine the

rise in level of water in the tank in half an hour.

30/1/1 I [B.1.0.
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30/1/1

oTg =TT ¥ T IR F GeAl U et g 5 (GAk F AR A g, Swh
TS 24 W § A Sk it Ao e i Rl o s s 30 Wi aen
10 3ft ¥ | 5@ s & ol =met =1 9ew w9 10 i 100 & A ft | T I
T | [r=3.14 T |

A bucket open at the top, and made up of a metal sheet is in the form of a
frustum of a cone. The depth of the bucket is 24 cm and the diameters of its

upper and lower circular ends are 30 cm and 10 cm respectively. Find the

cost of metal sheet used in it at the rate of Rs 10 per 100 cm?, [Use n=3.14]

16



